
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.025, page 241 
 

Last update: 22-10-07 

Remarks: See § 4.4, pages 168 till 170 
 
Hints:  
 
First draw the moment-diagram.  
 
Answers:  
 
a. , at the bottom of the beam:  3 mx = 260 N/mmσ = +
b. , at the bottom of the beam:   6 mx = 260 N/mmσ = −
 
Explanation: 
 
The moment extremes occur at: 

3 mx =  (Maximum span moment): 30 kNmM =  (     ) 
 : (Support-point moment): 30 kNmM =  (     ) 6 mx =
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      230 N/mmtσ = −

At : 6 mx =
6
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       230 N/mmtσ = +

 
 


